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I Chnnse the correct answer,
“3/4 is a rational number which lies between

a)0and “%/4 b)-1and 0 @—1 and-2 d) -4 and-5

2. Area of the circle .
@) krd 5q. Units b) 1;"2 nr units

d) 3/4 nr? units
The product of 7P3 and (2p2)2 Is a) 14p12 (E"zsp? c) op7 didipi2

c) 1/4 »r2 units

3.
4. What is the marked price of a hat which Is bought for Rs. 210 at 16%discount?
a) Rs. 243 b) Rs. 176 €) Rs. 230 9;55. 250 32 T00 S22
5. Two similar triangles will always have ............ angles, - ;L -3
aj acute b) obtuse . ¢) right (_);“nu“'h'ﬂg
I Fill in the blanks with correct answer.,
b. The muiltiplicative inverse Or =115 A ..., : i
7. Ifa#0thena®=,) ...
3 : :
Thezmeetmg point of more thgn two edges in a polyhedron is called as ¥extea
9 (2y<z) x (-2xy) = ...— S o 3
N

10. If 30% of x is 1511 e s, 590,
1% In .:'m}.ar triangle . rf'; Lifut sides are upposrte to Lquar angles

jiny i Answ_rany seven questmns in the followmq ;,7"}( 2
12, Find a rational number between 1,-’3 and -?,fq. 74 ] 1 [ \
1

lé,. Find the cube root of 27000, = \, f-:nujq‘ ﬁg:p ;
14. If the length of the arc is; #8m an
dthe r 10m th '
z& K—-’-ﬁ ;dh«ias en find the area oft:}a R

sector, A=
15.  Find the nllmbEr ofFaces -8 )~
formula. F.-T'V-— “‘ﬂ edges of a cube and then verify the Euier S
L

16. Divide : ~3‘|f by (-3 —E
w1 13‘:’() g,ﬁuﬁ
- Multiply (2x + 5y) and (3:: 4. => bn -H‘%
18. A number when lncreaved b
v 18% gives he
number, A+, ) - #3L = Afi4lS

= '7 4
value of x and y 3 i g4 |

15 5L A = { .
B =10, 2l =i e
b 'EMWE.MI.IM% >

S paoyh
167

20.  From the figure find the

1§ 0
. e T v
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v nswer I
22. . Pnd.the :nﬁqumm“s from the following . -
43. ' Find tt fit ¥ TOOREN 688 long division method," =S\ 3 )
& sssealug of (1) (235271 . >-2 s ra— N
5 = LB D GER) 22 o+ 42 yon A o B
— 24 Ei 2 I -2 ]f_“? ) q E > !-L'i"ll !
e <%. _Find the area of 3p irregular — 14N -
Polygon field whose measure 5, ety Yl i .},
are as given.in their figure 7 |73 yof (2%
O+ WD 40 1) = ('ﬂi’ﬂ‘f“_ i N “\\%w n1 2 :
2 g 'I, - il L3 J,_
) Ll s
" Wide 3 iF(32v< -8 i - % @A
( Y ¥z) + 2y, (i) (4m2nd 4 g’ém%%' mn) +2mn.
al = &r. 4000, R = 5% p.a,

5!1 i__||

Find the compound Interest (C.I) for n-..f_-%;?;."pﬁr?:ﬁ*ﬁ
t

n = 2 years, interest compound '
annu&l}n 1
= L N A
b s L t")&g

A = 4000 |+E;] = 4000%* 2L x
(=12 \o ol &y,
: e A A ;\-1" i
ki , =TS
27. From the figure find p & Pt -t M N
, A = 3
y:bM, MM LN. Also “‘ti‘ r (ha-tay =W MW =1 a2
5 = ML) = 3280-14y

A.gfj_aﬂl
::-.--’u;h
= % &_W_E—-B‘ a of A LON, Mm
3 L25 ks vk il
e ; My - y
S.°/7500 and is available at two successiv?dismun? . :

28. If a mattress is marked forf»l

of 10% and,20% Find the g '
3l - Find aount to be paid by the cust e
: " 'Io,f.\a"""”‘” P g ) X75 oD [=¢B4o0
| 2e | @
=10

bveri
i v Ans er't%e fellowing questions.
a) Construct a quadrilateral DEAR with DE = 6 cm, EA=5cm, AR =55
3 r = W Em;.

29,
E;,D =3.2cmand DA = 10 cm. Also find its area. (OR)
Construct a trapezium CUTE with ¢fJ || B
4 Ul ET,CU=7cm = 80°
. CE=6cmand TE = 5cm, “ | L
30. Plot the following points in a graph sheet,
-4). (OR)

a)A(S, 2), B(-7, -3}, C (=2, 4), D (0,'-5),E (7,

b) Draw a straight line by joining the points A (=2, 6) and B (4 -3)
/ i e R LA
¥ QSM 8 - sexfigb EM ussib - 2 )
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